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HSSC CET Group D Question Paper with Answer Key of 21 Oct 2023 1st Shift

o, Jg T Seaw - @ v 1 Hey 9Rd &
fmmm@%?

(1) umE

(2) Tea

(3) offewm

4 I

(5) SWTE IR

WIRE T fehsy o arelarat orey 2
(1) 1930

2) 1950

(3) 1947

4) 1951

(5) W AE < =R

wwwzou%m,mﬁmma%:
(1) 73.0

(2)  78.0
(3) 88.0
(4) 83.0
(5) IR T Awy
9ealt Y oo o 30
(1) 6371 f&.
(2) 8371 f®.
(3) 9371 fwt,
4)  2371f%

(5) S & =

(2) A Rfey

(@) W AR

4 dEHsa

(5) S T T wwy

A m%umm_w%mﬁww
?

(1) 9. TRy

(2) TR Teqwae gigy

(3)  wam sy

(4 R o e

) SR Ry,

Appam, Puttu and Idiyappam - food items,
belong to which State of India ?

(1) Punjab
(2) Gujarat
(3) Orissa
(4) Kerala

(5) Not Attempted

Which year did India attain freedom ?
(1) 1930

(2) 1950
(3) 1947
4) 1951

(5) Not Attempted

As per Census 2011, the literacy rate in Indig
is :

(l)' 73.0

(2) 780
3) 88.0
(4) 83.0

() Not Attempted

What is the radius of the earth ?

(1) 6371 km
(2) 8371 km
(3) 9371 km
(4) 2371 km

(5)  Not Attempted

Wl.“? is the author of the book - ‘A History of
British Indja’ ?

(1) James Mmip

(2) Warren HaStings

) Lora Mountbatten

(%) Lord Curgop

(5) Not Attempted

Who Served gg free India’s first Governor-
Genera] 7 ,

(1)

C. Rajagopalachari

@) Sardar Vallabhbhai Patel
(3) Maulana Azad

(4)  Jawahar Lal Nehru

(5)  Not Attempted

. 2
R ROUGH WORK Page

) . Scanned with CamScanner
Visit Website "SarkariJob.in


dkmal
Highlight

dkmal
Highlight

dkmal
Highlight

dkmal
Highlight

dkmal
Highlight

dkmal
Highlight


Visit Website "SarkaridJob.in"

7. ‘CE’Idd Y.

1) RT3 7. ‘CE’refersto:
(1) 3 T 3 (1)  Coastof Eg{pt.
(2) MR (2)  Common Estimate
(3) ATy (3) Common Era
@)  FEETEm (4) Casual Era
(5) SR T S (5)  Not Attempted
8. 942014 ¥ yry T St SR R 8. ‘2N([)ilszif)n Indradhanush’; launched in the year
. : is:
(1) foruri W‘T fafy= R RIEICERET S AR I (1) To provide information, commodities
%@Eﬁﬁrﬁ, W?WWWWI and service to meet the diverse need of
@) oty * N Cﬂi‘{{ adolescents.
.. SRkl i IR ST (2) To cover children who have been
ST . T2 Y A bt Gl partially or not vaccinated during
(3) o S 1 FREdt g o I‘{FTW routine immunisation rounds.
rard | (3) To provide affordable and quality
) il [‘ a3 healthcare to the rural population.
(4)  dfed =i =it Ran wew w0 (4) To provide education to the deprived
(5) R TR <1 =R | children.
FR——— N (5)  Not Attempted
9. HATT Sl § -
(1) 53H 9.  World Environment Day is celebrated on :
@ 7 (1) 5t June
(2) 7t June
@) 5 (3) 5% July
(4) 7 IR @) 7t July
(5) S G <A =R | (5) Not Attempted
10. 'Cjiﬁﬁ F = SR feord T I R € 10. The earth is surrounded by a layer of gases
(1) S ISIG called :
(2) TgfeRor (1) OZOI:IB
. (2) Environment
(3) argASA (3) Atmosphere
4) Sdayg (4) Climate
. d
(6) TW TRl < =TEd | (5) Not Attempte
. ’ amme ?
11. ¥ (MAA) et w1 faga T € ? 11. What is the full form ofMAAtg;Egr
L l
(1) |i =l 'gTTf R (TS TeHITYL SRR (1) Mother’s Absolute ﬁftz;tion
- W‘ - ’ Jute
2) T = 'Q'Tﬁ & ( ) (2)  Mother j&;:ll) S:dzlescent Jescent
_ L = h r d CS
(3) B R Rk (AR TS L) . ) I\B{/iof'lsirual hygiene Among A%
@) feifc e o s T (e W e
TSl S TS ). 5) Not Attempted Dage 3
27 =R | ORK
(5) SO TE «T —— ——FORROUGHW
— 31e 5 et wme / SPAC _
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e’ Frafafea § J frge wF w9 8, il adae
H U5 e B ? '
(1)
(2)
(3)
4)
(5)

Shfen gEenten fovafammea el erafed 82
(1) oW

(2) T

@) feed

4) <@

(5) S TR < = |

frefafad § 9 SH- FEHe 9l FEh g
foreerl § Y= foren T fogen Sfaria a1 T
T3 o Yo fohan st 8 2

(1)  wfget T@mE

(2) TS WS

(3) 9 =, S g

(4) od foen rfEH

(5) SR TRl o e |

‘g’ e wRd o TR o H HA S € 2

(1) e

(2) e

(3) SWIW

(4) o§H
(5) ST AR o e |

afe ferdlt SAfeR T Jah hH HET 9 AL S, A TR
& 1 M g 5N e foan S €, = I
SHferd T8t @ GehaT | gg Uishal Headl © :

12.

13.

14.

15.

16.

‘Lugda’ is a kind of which one of the fOllowing
that is worn in Chhattisgarh ?

(1) Saree

(2) Dupatta

(3) Ornament

(4) Footwear

(5) NotAttempted

Where is Jamia [slamia University situated ;

(1) Aligarh

(2) Bhopal

(3) Delhi

4 Lucknow

(5) NotAttempted

Which one of the following refers to the
me introduced in all government

rogram . >
prog ols to provide children with

elementary scho
cooked lunch ?

(1) Mahila Samakhya

(2) Mid-day meal

(3) Beti Bachao, Beti Padhao
(4) Sarv Shiksha Abhiyan
(5) Not Attempted

‘Bihu’ festival is celebrated in which Indiar
State ?

(1) Karnataka

(2)  Punjab

(3) Uttar Pradesh
4) Assam

(5) Not Attempted

If a person’s kidney stops working. Th
cannojc sgrvive unless their blood is filter
by artificial kidney. This process is called

(1) 3o
(2; (1) Excretion
SRISIRE (2) Dialysis

3

(3) ?ﬁﬁ (3) Transpiration

(4) TH&BRTF[. (4) Elimination
(5) W I < =R | (5) Not Attempted

VNATH/G1 TG BT & fe7w =11eT / SPACE FOR ROUGH WORK Pag
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17. ﬁﬁﬁ’rﬁtgﬁﬁgaﬁq\m : -
PlTETy ¢ 17,

1 :
(1) < Which of the following ig nog
(2) o habitat 2 a terrestnal
@) e " Pong
4) %R %) Desert
(5) I TE I ey ©) Rainforest
' (4) Grassland
(5)  Not Att
18. Waﬁ@m TR T empted
(1) ™ 18.  The SI unit of mass is -
@ framm (1)  gram
3) URs : (2)  kilogram
(4) =Y (3)  pound
6) SR W Pl
(5)  Not Attempted
19. T TSH TG SO § T AW il gt W @ ' _
T <9 IR yfafears & o9 frat <0 Bt ? 19. Aboyis standing at a distance of 50 cm from
. the plane mirror. What will be the distance
(1) 100 HdHRT v between the mirror and the image ?
) 25" : (1) 100 cm
(3) 50 HAHR 2) 25cm
; 3) 50cm
4) 75 AR (
(5) SR TR & =R | (4)  75cm
(5) Not Attempted
20. %1 g § o1 & @ 7g fRdt
g 3 SEgaehdl el el 2 20. No medium is required for transfer of heat by
the process of
(1) fofm (1) Radiation
(2) e 2) Conduction
(3) Haed (3) Convection
(4) oS (4) Transpiration
(5) S e &A1 A | (5) Not Attempted
21. LRI re 9 g et i 21. and are water borne
F| diseases.
i ” a;-m..ﬁﬁ:aﬁﬁ-g (1)  Typhoid and Meningitis
(1) - o2 i A (2)  Beri-Beri and Dysentery
(2) (—q'ﬂ— . (3) Scurvy and Cholera
. () Sl W%TTII (@)  Polio and Rickets
4) diferdr &A1 : B (5) Not Attempted -
=Ted | I Page 5
(6) SR T FOR ROUGH WORK
VNATH/ G1 b
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22. Match the following :

)
(@) (Im) (1) i :Neak stem
(@) TR (1) S () Lamina EI]U ovary
: i Petal
B) UG () sierm (*Z) Pfszl i) Leaf
(C) T W (1) © (v) Flower

Creeper
D) foudi & (D)
D) (Iv) = (-, D)~
©)-0, @-V)
(C)-(11D), (D)-(D

(C)-(IV); (D)-(1)

(1) (A)-(, (B)-(IV),
(2)  (A)-(), (B)-(11)
(3)  (A)-0V) (B)-(I1),

1) (A)-(1), (B)-(Iv), (C)-(), (D)-(1)
(2)  (A)-(ID), (B)-(1), (C)-(1), (D)-(IV)
3)  (A)-(1v), B)-(II), (C)-(1), (D)-(1)
(4)

-(111),
(A)-(I1), (B)-(111), (C)-(IV), (D)-() @ (a)-, B)-0
(5) S TR < =R | (5) Not Attempted
| | beri-ber
23. i % e a0-a0 i 8 €1 | 28, Deficiency of __— causes er
' et disease. -
) fftr ! (1) Vitamin A
(2) —_— - (2)  Vitamin Bl
b et © » (3) Vitamin C
S b (4) Vitamin D
© 5% R 37 e : (5) Not Attempted

24. frefefed 4 & F =l TR 24. Which of the following is not the characteristi

(1) Trger () T 3fefd of fish ?
(2) fireT 1 Sufefd (1)  Presence of fins
(3) g T Bl 3R ATATRR I (2)  Presence of gills
(4) IR F A 9 F gaT 3 R R go @ _(3) Long backbone with cylindrical body
SR BT BT ¢ | (4) Head and tail smaller than the midd
(5) W &t 21 =9 | portion of the body.

(5) Not Attempted

25. TERERT A’ FHR HFRUE : 25. Hepatitis ‘A’ is caused by :

(1) Eﬁ‘_ﬂ‘ﬂ : (1) Bacteria
() faump (2) Virus
3) IR . (3) Fungi
(4)  SRISeT (4)  Protozoa
(5) W Tl <1 9Rd | (5) Not Attempted
VNATH/G1 I T & feTe Tare / SPACE FOR ROUGH WORK T
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26. ¥ 7919 o ¥ 26. Earthworms breathe through their
(1) e (1)  Lungs
(2) varEAfEAl (2) Tracheae
3) TOESI (3) Gills
: (4)  Skin
4) &=
@ . (S) Not Attempted
(5) S I < IR p
27. fretffen # W foats s § e w1 v | o ?le)aSt isiused it tae production of
5 gar
R 2 B Grygen
(1) HTﬁ (3)  Alcohol
() SferisH (4)  Hydrochloric Acid
() A=A (5) Not Attempted
(4) TR A
(5) W I < = | 28. Intheyear 2016, the Government of India has
» initiated a mission called under
28, 4 2016 H 9Rd TFHR A e T “’thicthda proper Sewage disposal have been
- v .. started.
mﬁm%%m%mhzﬁam%awﬁw 1) Ujjwala
SIS Iehsll AT 21 (2) Udaan
(1)  Ssfeed (3) Swachh Bharat
(2) 3SH (4) Namami Gange
(3) TE=® uId (5) Not Attempted
4) FwHEAET
(5) 3SW &l <A1 =R | 29. Match electrical component given in
Column - I with the symbol given in
20, Ty - 1H ¥ T fowm stemal @ W@ - 1 H e Cdu"g;;::rl'n_l Column - I
Nl mﬁlg i : - 1T (A) Electric cell e
(A) foEd I nm A= (B) Switch in ON’ (11) @
B) ‘a1’ feafa # fa= (I1) @. position
® (C) - Electric Bulb () ———
() fagd s ) ——= (D) Battery wv) —+
(D) EE2l (V) _—i = Choose the correct option :
e fawea 9fd - (1) (A)-), (B)-), (O)-), (D)-V)
(1) (A)-), (B)-D), (O-1), (D)-0V) @  (A)-am, B)-0), (©)-, O)-1V)
@  (A)-), (B)-(), (C)-), (D)-(V) @ (A-aV), (B)-), (O, (D)-D
@) (A)-av), B)-0), (©)-), (D)~ @ (A-av), B)-(m, (©)-, PO
@ @-av), B-0, (C)-(D), (D)-(I) 5)  Not Attempted
(5) I TE < = | Page 7
VNATH/ G1 <% el 3 ferw zaireT / SPACE FOR ROUGH WORK
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30. W@Sﬁ 1 I8 TUIEH R FHeg © R Hl'g[,?vfl H | 30. The property of metals by which they can b,

WWWWW 2 beaten into thin sheets is called :
(1) <eTehal (1)  Conductivity
Q) wiafsman sman (2)  Reactivity

(3) Ductility

(3) T .
(4) Malleability
(4) W (5) " Not Attempted
(5) S TE M =R
. . 31. Five children A, B, C,D and E are standing in
31. U ERAA, B, C, D 741 E SW & 3R g FlF TH a row, facing NO}‘th but not necessarily ingthe
e & we ¥ Afeh oTTevas el € fof oel oA H & | same order. ‘C’is to the right of E’ and to the
c . afh s : nr oS left of ‘A’. ‘A’ and D’ have one child between
@, B H TR ARAR A, FAE FARE I A’ D’ H . 2 _
’ ) X them. Who is in the middle of the row ?
dfaduEaa el s T FAR? Q) E
(1) E 2 C
@2 C 3
@ B 3) B
@ A @A
(5) SR o =R | (5)  Not Attempted

32. = U 378RI % WS I srFafeed wH | fegrmn | 32- A set of English letters is given below in a

| desl ¥ 39 9AeA T g J;lulinr:éed order.th Sfl(ic}:lt tklle combination of
E. . i i | I ers so tha e letters arranged
e T ARG FA T Teh 3?"fTTf I I | accordingly will form a meaningful word.
C P K T ) E C P K T 0] E
1 2 3 4 5 6 Q% 1 2 3 4 5 6
(1) 3,51,4,2,6 ‘(QOC’</

@ 21,53,6,4 eoo\uﬁ’\ (1) 351,426

B 2,51,3,6,4 900"2’\(/‘0 2 2,1,53,6,4
(4 4,1,52,3,6 XC 3 2,51,3,6,4

(5) I &l S =R | 4 4,1,52,3,6

(5) Not Attempted

3. IWMQ,RFEFEHMEE, @ Q, R Fa

33. If ‘Q’is brother of son of R’s son, then‘how is

YR Hafed § 2 ‘Q’related to R’?
S | (1) Son
(2) =/ B () Uncle
@ H= (3) Grandson
@) == 1S /<8 (4) Cousin
(5) W T} <A1 9= | (5) Not Attempted
VNATH/G1 3% 1ef o foT0 Z2Imel / SPACE FOR ROUGH WORK Page 8
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34. 3lQ i?@. k] 'Ef.25 IR R AR g, Mg meA A | 34 If 25! of August in a year is Thursday, then
fepa HTCTaR =1 2 howﬂrlngny Tuesdays will be there in that
mon
1y 3
@ 5 m 3
@ 4 2) 5
4 6 3 4
(5) SR T S R | 4 6
(5)  Not Attempted
35. <&y 3R IHF o S frend 1 311 feg e 1 few
FHUA B T AT RS ite 1 i
hR i @.a‘%a ] T 7§ 35. Two statements are given, followed by two
fim & a1 9?“3‘ g 2, i = ﬁﬁ?—@/@f conclusions I and II. Assuming the
ﬁﬁ;ﬁﬁqmmﬁqaﬂmm g w9 ¥ ferordl statements to be true even if they seem to be
5 . at variance from the commonly known facts,
%/ﬁﬁﬁ X decide which of the conclusions logically
T : follow/follows from the given statements.
gt SR —3,-—% Tl Statements :
F9 ﬁ'@?ﬂ’iﬁﬁ%l All animals are dogs.
Some dogs are dangerous.
forend
. Conclusions:
L |t STHeR T €
, L All animals are dangerous.
0. $9 A IR E
1. Some dogs are animals.
(1) e forerd 1 Freera €1
(1)  Only Conclusion I follows.
Fad IHGEFaEi feherdi g |
.(2) a € (2)  Only Conclusion II follows.
(3) I SR 1T a\Fﬁ % l (3) Both Conclusions I and II follow.
(4) ad ﬁﬁﬁﬁ I AR AR L i 4) Neither Conclusion I nor II follows.
(5) SW & < e | (5) Not Attempted
a6, forg yER Framie F g AT TMIFRET | o0 gometer is related to Distance in the same
froQ Hafud ®? way as Newton is related to :
(1) =T q (1) Acceleration
2 Densit
(2 wIaH 2 ¥
@ 3 (3) Force
R 4) Momentum
4 gaT
i T l (5) Not Attempted
=ed Page 9
® = SPACE FOR ROUGH WORK =
VNATH/G1 7wl 5 fere S

2
g I

Scanned with CamScanner

Visit Website "Sarkaridob.in"



dkmal
Highlight

dkmal
Highlight

dkmal
Highlight


Visit Website "SarkaridJob.in"

37. R Yuen 3T 9 I hifory ;
11,12,16,25,41, 7
(1) 65

37. Find the next term of the series :

11, 12, 16,20, 41, 2

(1) 65

(2) 66
@) 69 il
@ 72 gF ¢
(5) ST A R w72

(5) Not Attempted

38. fawq =1 9= wifew
38. Find the odd one out:

R (1) Ginger
) I (2) Carrot
(3) A (3) Potato
@ == (4) Tomato
(5) ST AR (5) Not Attempted

39. 3f ww Fft=d Few™ 4 ‘COVET” ® FRYHW’ | 39,

If in a certain code, ‘COVET’ is written a

forat <t ®, @ St 9 ¥ HIDE? @ 91 foman FRYHW’ then how will ‘HIDE’ be written in th
T ? same language ?

(1) KLEF (1) KLEF

(2) KLGH (2) KLGH

3) ERLEl (3) KLEI

4

(% &CEF \ (4) KGEF

(5) W E AT IRA |

(5)  Not Attempted

40. UF fed IW few § g =% @ &1 9% amEd =
fewn 4§ 135° e S ¥ 3u% ar efed oo 135° i, anticloc}g(-worth direction. He turn:

. & . : ise directio 0
90° ¥ 1 €1 1 SHeHI He frq fem # 82 In the clock-wise direction. \{Ill"u'acxildc:?rzzltigoﬂ

40. A man is facin

n w—g;f is he facing now ?
- (1)  North-East
(2)  North
(3) IW-ufeem (3)  North-West
(4) ufeem (4)  West
(5) I T <1 =mRd | (5)  Not Attempted
VNATH/G1 T B o 10 7are / SPACE FOR ROUGH WORK T
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41. 17 TR F T 720 W sy

5NN wwm e N A1, On eeliin ¢ 17 Walla for £ 720, there :-z a loss
EAEEERIRIR AN LR CE TR vl to the cost price of $ balls. The cost
) rom A Avvs Ty iq
(1) Tas ¥ )
(2) T 50 I.", 24
(3‘ t 5:“ {)S *an
@ Te0 Ay 155
(5) I S R oA 1y 60
3y  Not Attempted
) (28137 - =Xl = G D)
42. :fe A5-128-R7-(15-M)=58 R MAFWA | . 4s_ (28— (37 — (15— #l}] = 58, then the value
e of ¥is :
(1 —29 q) =29
_(2' o 2 -19
(3) 19
4) 29 o 2
B T ke | (5) Not Attempted
43. AT B I FE: T 22,500 TN 35,000 AR, | 43, A and B started a busmness by mvesting
T SR TR fF | T27,600 F FA AW H B H % 22,500 and T 33,000 respectively. Out of a
1 total profit of T 27,600, B's share s
ST
1 10,800
(1) 10,800 ((2)) e
400 ’
—{2’ e (3) 16,800
(4) 19,200
200
o 5 271 =ed | (5) Not Attempted
(5) TOLTE
il y: .
2 4 2 A 44. If & o .!. , then the value of 3
4 FEX_lg@X Y @wAEET: 73 o,
y 3 X" = g
- 10
- 10 (1) =
Y =
i S
5 @ 5
@ 3 B
. (3) '
-8
(4 3
-5 !
3 5 (ot Attetnpics -
e e = | OUGH WORK

O e SPACE O
IH
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If the length of t

e, Tt ST % fershot o e e Ao e

25
e

(1)

(2)
3)
(4)

)

ﬁnaw 168 =1 HieX €, T 31 i et afs

12 .
17 A,
24 T,
31 H.
W& A TR |

L R S R S i i 12 a A bl
T & S 2

(1)

8=%
4

2) 8—%

(5) ST TE & = |

55. 2750 TF 9 9 Theq F T Sel Gl ¢, el 34
20% =1 fae @I €1 afe 384 T 1,600 feudr fr #
3 - T 39 Theq & T SIS ol Afehd e

53.

54.

55.

rectangle are 25 :
then the longer sid

he diagonal and the area
m and 168 m? respectiyy
e of the rectangle is:

(1) 12m

(2) 17m

(3) 24m

4) 31m

(5) Not Attempted

At what rate of simple interest will a sum

money doubles itself in 12 years ?

(1)

(2)

(3)

(4)

(5)

8%
4

1
8—%
3

1
9—%
2

Not Attempted

Arun buys a pair of skates at a sale whe
the discount given is 20%. If the amount!
pays isX 1,600, then which of the following
the marked price of the pair of skates ?

" (1) ¥1,280
(1) 1,280 oo
((j)) : 11,,22(()) B) 1,920
(4) ¥2,000 (4)  ¥2,000
' (5) Not Attempted
Tr(li)m T ~t 1) o feTu el / SPACE FOR ROUGH WORK F@
A ‘ ’
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Cchoose the correctly spelt word.,
(1) humorus

) humorous

(3) humoros

(4) humarous

(5) Not Attempted

Choose¢ the alternative which best expresses

the given sentence in Passive Voice.

The accountant took the cheque from the

customer. )

(1) The cheque is taken from the customer
by the accountant.

2 The cheque was taken from the
customer by the accountant.

(3) The customer was taken the cheque by
the accountant.

4) The cheque had been taken from the
customer by the accountant.

(5) Not Attempted

In the following question, the first and the last
of the sentence are numbered S; & Sg,.

The rest of the sentence is split into four parts

and named P, Q, R and S. These four parts are

jumbled. Re-arrange them in correct order.

S; - Even today in many countries

P - neglected and there are far

Q - women continue to be

R - who have had the benefit of

S - fewer women than men

S¢ - education and vocation training

(1) PQRS
) QPSR
B) RQPS
4 SQRP

(5) Not Attempted

Change the following sentence i
speech.
Shakti said to his frien
a snake behind you”.
(1) Shakti told his friex?d to.look out as
there is a snake behmd.hlm: 4 with
(2) Shakti exclaimed to his frien o
surprise that there could be a
behind him. _ ‘ _
(3) Sie]igg a snake behind him, Shakti
i -ond to look out.
AT s is friend that there was

4) Shakti warned his
a snake behind him-

nto indirect

d, “Look out! There is

60,

61.

62.

63.

ted |
'& Hoslner s thzfa;ﬁquaral SPACE FOR ROUGH WORK

VNATH/ G1

P
Pick out the part of the sentence which has an
[ g

Tror. If there is no error, your answer is (4).

This is the thipd commuinication [ have sent /

(A)

‘m_n’l l' am much surpriaed /
(B)

at receiving no answer
(€)

(1) (A)

2 (B

3)  (©)

(4)  No error

(5)  Not Attempted

Fill in the blank with suitable alternative.
You will not overtake him unless you

(1) sleep
(2)  walk quickly
(3)  play

(4) reading
(5) Not Attempted

Choose the alternative which best expresses
the meaning of the underlined idiom.
They sold their old house because it was

a white elephant .

(1) very large

(2) useless

(3) very comfortable
(4) collapsing

(5) Not Attempted

Find out the antonym of frequent’.

(1) rare
(2) return
(38) fear

(4) alarm
(5) Not Attempted

Find out the synonym of the underlined word
in the following sentence.

To travel hopefully is a better thing than to
arrive, and the true success is to labour.

(1) rationally

(2)  positively

(3) negligence

(4) carclessly

(5) NotAttempted
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70.

T1.

72.

73.

74.

75.

o T ey forehe e B G Y T € 7
(1) Wﬁ(ﬁﬂ?’ﬂ"mﬁuﬁl ;
() T AR R @ E

@) = R H T wE

@) el § g e e

(5) ST TE o e |

for T & Tl TG WM @, 39 FeEd € -

(1) HHYA

(2) e

@) f&1

(4) ereAEE

(5) S T o =R |

feu TTu o famed B ad+1 1 s TI S 2
(1) gfgswmm

2) S=Ed

(3) T

@) A

(5) S TR <A =R |
‘T SR He & <" T gan’ & fad Saitaes SugeE
T K © -

(1) Tyfa
(2) TERT
(3) TR
(4) ™

(5) SR TR <N = |

“Fr.+omEn’ & AN Y T e HaiUES SUgE v
3

(1) Fremm

() fremn

(3)

(4) TN

(5) S TE & A |

et T Y I TR T el g ayef
¥

(1) atferetfues 3=tq L |

@) aTqE S Wl {HE T
3) WWW“W'

@)t S @ E

() eIl

65. Choose the correct alternative to improve the
underlined part of the following sentence. If no
improvement is required, your answer is (4).
Passengers are requested not to sit on the floor.
(1)  tonot sit
(2) tonot to sit
(8) requested to sit
(4)  No Improvement
(5) Not Attempted

66. SHH-TI IH et FHH H SR ¢ ?

(1) %<9 9 o =i ¥

(2) IE7 IR I T 7
(3) <fal otk wsmi !

(4) WY BT W B

(5) SR &l < =ed |

67. ‘T IM H W Wd YHI' T & {@ifhd g H

afifires SR AT v -
(1) aifeeht

(2) e

(3) 3™

(@) s

(5) SR E <A =R |

68. ‘o7 YA F AN @ o A IL T ¢ -
(1) T
(2) TEH
@ <=
(4) TER
(5) WA T =& |

69. ‘W@ﬁﬁm%@ﬁgﬁm'wmqﬁ
gfte & e X
(1) ST AT
3) g:zm 31D W
@) e eCiEaul W hl
(5) =L él A1 =ed |
VNATH/G1
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76. TREON H fRw @ ¥

76.  How many districts are there in Haryana ?
n 21 m 2
@ 22 2y 22
3 23 @) 23
4) 24
) (4 24
(5) SR Ty

5 Not Attempterl
I

E e W?Pf‘il quEn e (T3 77 30) % e 1 frefafin b 77. Consider the following statements in respect

R HA-1 YA R § 2 of National Security Guards (NSG) -

(A) T3 TS v T WA 1 ) (A) f\)’z(;r:i‘;r;nal Headquarter of NSG is in
B T & AT % Frimm ® (B) NSG comes under the control of Union
Wﬁ%ﬁq—m/ﬁwuﬁ%/%? Ministry of Home Affairs.

(1) == (A) Which of the above statements is/are

correct ?

() FEE(B) (1) (A only

(B)  (A) R (B) (2)  (B)only

(@) AW (A) IWAF (B) (3)  Both (A) and (B)

B) TR MR

(4)  Neither (A) nor (B)

(5)  Not Attempted
78. T % frm W | vfag g B9 @ amEeH

eI e g2 78. In which month of the vear, the famous
1) = 22:;2;(:?(1 mela is held everv vear in
(2) e (1) March
(3) SFHRS (2) December
(4) W= (3)  October
(5) TR ST ERd | (4)  February
(5)  Not Attempted
79. HRTHNG 1 § efAn ¥ fan f v @ wydm
MNE? 79. In the Mahabharata period, which term was
(1) used for Haryana ?
7 (1)  Haribanak
(2) agEEH (2) Bahudhanyakya
(3) wrm (3) Hariyala
4) e (4)  Haryanak
(5) =W E <A1 9med | (5) Not Attempted
a8 Page 17
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ﬁi—h‘{ 1] X - .
S W g A 23 % oo ufagad A

TRV T S ¥, v e o i
o VRIS ¥, v e ) i g waam
TR HERT w o o

(1) Yo wererg
(2) W= wEe
(B) =
4) ¥ weeT
(5) W & e

ﬁ‘?ﬁﬂf@ﬁﬁﬁaﬂqﬁﬁmmmaﬂwm,aqﬁh
FISiEE q5 2

(1) =t sifqa faw

(2 HiFwU=

(3) =1 Te =g v
(4) &t T=a SREn
(5) W FE < EEA |

Y-7d T Y FE FE g Tasia fmam =l sifsfa
fora ST & ?

(1 2
(2 3
(3 4
4 S
(5) =7 el <A1 =ed |

i # 4 %79 | el win & T g w?

@ T
@ AR
(5) e 78 €

80.

81.

82.

83.

romote the ancient Heritage of Pir_ljore,
held every year. One is the
which is the secong

To p
two festivals are 1 V!
Pinjore Heritage festival’,

one ?

(1)

Orange festival

(2) Dates festival
(3) Mango festival
(4) Lemon festival
(5) Not Attempted

Who among the following is the Minister of
Environment, Forests and Wildlife of Haryana
State ?

(1) Shree Anil Vij

(2) Shree Kanwar Pal

(3)  Shree Mool Chand Sharma
(4) Shree Dushyant Chautala
(S) Not Attempted

Mukhya Mantri Pragatisheel Samman Yojana
is to motivate the progressive farmers for
adopting best agriculture practices in how
many categories of land holding ?

1y 2
2 3
B 4
@4 S
(5)  Not Attempted

Which amon
of Haryana ?

(1)

gst the following is the State Tre

Banyan Tree

(2)  Sacreq Fig
) Mango Tree
) Sal Tree

(5)

Not Attcmpted
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84, ﬁﬁ%{f@amﬁmﬁwaﬂﬁq:

() Tz & yfere smgeRTers feera ¥

B) T & gfere smgeRiTe feom ¥
SR A IR g g
(1) s (A) ‘

2) %I (B)

()  (A) AR (B) T

4 Ad (@) WAE ()

(5) S| &l <A1 9= |

84. Consider the following statements :

(A) Rohtak has a Police Commissionerate
located there.

(B) Sonipat has a Police Commissioner ate
located there.

Which of the above statements is/are

correct ?

(1)  (A)only

(2)  (B)only

(3) Both (A)and (B)

(4)  Neither (A) nor (B)

(5) Not Attempted

85. fod =94 2022-23 & fer, afamn v § wren ¥
feTe et =3 1 fof ftrer omafeq fFar T 2? | 85, For the financial year 2022-23, what is the
(1) 14.2% percentage of the total expenditure allocated
2  6.2% towards Health in the Haryana State ?
3)  8.5% (1) 14.2%
4) 5.8% 2) 6.2%
(5) SR TE A = | @) 85%
4) 5.8%
86. fmffig e T forem o (5)  NotAttempted
(A ;ﬁ?ﬁqﬁ SHIISIETST S gl = S w7t 86. Consider the following statements :
B) ﬁzlﬁ 1 T oot @ T T R (A) lSj(:;}il}iJ.at and Jhajjar share border with
3ITdH | § -9/ Q FUA T g/8? (B) Rohtak does not share border with Delhi.
(1) ¥ (A) Which of the above statements is/are
correct ?
@ % @) (1) (4)only
3 (A) R (B) T (2) (B)only
(4) At (a) SIRAE (B) (3) Both (A) and (B)
(5) S E =R | (4)  Neither (A) nor (B)
(5) Not Attempted
87. AUl foRg T & Sfarid €2
: (1) ST 87. Neemrana comes under which State ?
@) famn (1) Rajasthan
. (2) Haryana
(3 = (3) Punjab
(4) SWES (4) Uttarakhand
(5) SR e & e | (5) Not Attempted
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88. TR T e el W €7

(1) 8
2 7
3) 6
4 s
(5) ST T EEd)
89.  Trefefen et w fmm Ff -

(A) o1 s Trgw e § ¥

B) =1 it egw TR A F @ W

ST H J w-w Y w2

(1) =a (a)
(2)  F=w(g)
@) (a) 3 (B) I

(4) :fﬁﬁ'(A) 32ﬁ'{:|’g"]’(B)

(5) 7 T =Ry

90. f%gfar gy R T ey favafeemes fead §72

(1) e
(2) TEum
@) wikEr
(4) &

(5) S < EEd |

91. 3fay mieh o1f ey ik wfEiem sfamn F R

ISR

(1) ¥R

2) fon

(3) fear

(4) f

(5) SoX el &1 e |
92 e <ot fre e 3 T G €7

1y =

@ w9

(3) ‘

(4) mﬁ =1ed |

S &

(5) _ ﬁa,-m‘as%t’

vNATH/G1

How

does Haryana
.., Sabha seats

s have ?
1 8
@ 7
@ ©
5
g Not Attempted
. following statements :
B3 (?AC;HSI;Zdtah;ahib Gurudwara is situated in
ambe i is situated on
(B) Nada Sahib Qurudwara
the bank of river Ghaggar. ‘
Which of the above statements is/are
correct ?
(1) (A)only
(2) (B)only
(3) Both (A) and (B)
(4)  Neither (A) nor (B)
(5) Not Attempted
90. In which district is the Indian National
Defence University located ?
(1) Panchkula
(2) Gurugram
(3) Faridabad
(4) Karnal
(5) Not Attempted
91. Indira Gandhi Super Thermal Power Project
is situated in which district of Haryana ?
(1) Jhajjar
(2) Sirsa
(3) Hisar
(4) Jind
(5) Not Attempted
92. Garima Chaudhary is well known for which
sport ?
(1)  Judo
(2) Kabaddi
(3) Wrestling
(4)  Archery
(5)  NotAttempted
zrd / SPACE FOR ROUGH WORK m
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)3 ﬁﬂfﬁmﬁﬁﬁ fere gfRamon &6t ST | Tursh gmﬁff 93. Who amongst the following did not play for

& Qe 917 Haryana in Ranji Trophy ?
1) afy< fae (1)  Maninder Singh
(2 Fiyd < (2)  Kapil Dev
“ (3)  Rajinder Goel
(3 TE IR
TCEHT AR (4)  Sarkar Talwar
:;: I el ol =ed | (5) Not Attempted
4. @ &l A @ ®? 94. In which district is Narnaul situated ?
= (1) IS (1) Jind
(2)  Kaithal
U
2 RES ‘ (3) Mahendragarh
" e— (4) Rohtak
3 (5) Not Attem
3 pted
|
(5) SCTE I e
£ ) c i i f Haryana
Frefafieg § ¥ A -t Jreft At [ 95.  Which of the following dance forms o
7S = mﬁ b £ A Ea is associated with Mewati tribe ?
3 ' (1) Dhamal
M ot (2) Ratvai
@ (3) Phag
5 (4) Gugga
@ T 5 > (5) Not Attempted
(5) SRR TR A1 =R |
; A thor of epic Mahabharata’ ?
¢ Gl =) 06. Who was the au
HETHTET HETHRE o Tafad i €
e g (1) Magh
) Ffee™d (2) Kalidas
- . E’ﬁ‘éﬂ_@ﬁ'ﬁ (3) Maharishi Valmiki
) ﬁéaarra ) 4) Maharishi Vedvyasa
4) i o e (5) Not Attempted
(5) 5L

owing is not amongst the

i & 1 2T & YW HUH ScaEh ich one of the following1
7. fefafad q & @ b o rWn:jlor cotton growing districts of Haryana ?
forcli # 4 & TG €7

fa@n (1) Sirsa
o gHad (2) Sonipat
- mw\ | (@ Ambala
o) arer 4) Rewari
o ‘ (5) Not Attempted
: ki K Page 21
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ey

Wmf?qma(“ﬁwgﬁﬁ)%aﬁﬁﬁqﬁ{f@ﬂ

(A) - q:

( i s, W d rr F R @A
oA

o &, T F A @AY

SR F ¥ wiy .
ISR ER: T

1) o ) /

(2) W(B)

@) (@A) siv () 2
(5) S q_ﬁpf é:n a'rg'a |

'L e B § farm T w o
(1) =W

(2) wifgen

(3) =W

(4) ¥R

(5) ST TR & HwEd |

o el R el T W Fow
g ST 8 2

(1) P
(2) T
@

4 T

(5)

.o00-

98.

99,

100.

Consider the fpllo
State Domestic Prod

wing statements about Gross
uct (GSDP) :

(A) GSDP of Haryana is more than that of
Bihar.

(B) GSDP of Punjab is more than that of
Haryana. |
Which of the above statements is/are

correct ?

(1) (A)only

(2) (Bjonly

(3) Both (A) and (B)

(4) Neither (A) nor (B)
(5) Not Attempted

‘Ottu’ barrage is on which river in Haryana ?

(1)
(2)
(3)
(4)
()

Yamuna
Sahiba

Tangri
Ghaggar

Not Attemptéd

Boojali, an ornament is worn in which part of
the body by women in Haryana ?

(1)
(2)
)
(4)
(5)

Ears
Forehead
Foot
Nose

Not Attempted
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